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6~ TR 7 261 % I G P 4k 6PG Al NADPAE it 6 IR 2 BE IR A1 NADPH, NADPH 7t 1-mPMS I{EA T~
{f WST-8 BT, 7E 450 nm Nl & B 1H

mEEHMENAR:

e ARE O, FERBRAS . ImL BEEL O, FHEk. UK. &K

BT B4R AR FNECH -

RO : i 60 mLx1 3, 4°CHRAF;
WA A 30mLx1 i,  4CHRATs
B Bix1 i, -20°CHRATs

WA= WAk 3mLx1 i, 4 CRHRICIRTE.

6PG $2HL:
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1. AU B IRAIME: SeU A s R R 0N, B0 JaTE Bk, IR e R (104N $2E
WARAR (mL) 4 500~1000: 1 FIELBI R 500 JT4NBE a4 in ImL $&EGRD, A B (UK, h
F 20%8% 200W, #7 3s, [A)FE 10s, FE 307K), 8000g, 25°C&Lr 10min, HU_EiBER.

2. HA: AL R (g): REGRAERmML) N 1: 5~10 FIELB] CGEIFRENZ) 0.1g 2047, I\ ImL $£HL
B, BATUKIB SR, 8000g, 25°CES L 10min, B IR

3. M GO SRR M EHENE

ME L
1. 266 H 1 30min BLE, W3 IRKZE 450nm, FHEKIHZE.
2« WA RIEH: WARTINN SmL K FE B MRA L, A SE MR 4 28 5 20 C - 1E s

3. TARMEECH]: i P AT IERE AR, $2 DU B e i) AR

RALH (L) W5E TAEW xR T AR
Bl 500 500
i = 250

7K 250
= 50 50

4y BEAIE

¥R R G I A I Rk 7)

WA (ub) e xR
HEA 250 250
W5 TAEMR 750
Sof R A 750
37°CHEEEMFE 30min, 450nm FIEWOGIE A WEE A X, AA=A WE-A KR SANEERE—
o B

6PG SEIHHE:
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1 AR NI E FVH 5N y = 7.7178x - 0.0016, R2=0.997; x A 6PG & & (umol/mL), y NWGIE.

2. FRIME GO ARELHE

6PG & (nmol/mL) = [(AA+0.0016)+7.7178xV1]+xV1x1000

=129.6x(AA+0.0016)

3. B E AR

6PG % (nmol/mg prot) = [(AA+0.0016)+7.7178xV1]+(V1xCpr)x 1000
=129.6x(AA+0.0016) ~Cpr

4, FEIREES R R

6PG & (nmol/g fiEH) = [(AA+0.0016)+7.7178xV1]+(W xV1+V2) x1000
=129.6x(AA+0.0016) ~W

3. R B GH B Bl R R T 5

6PG it (nmol/10% cell) =[(AA+0.0016)=7.7178xV1]+ (500xV1+V2) x1000

=0.259%(AA+0.0016)

Vi: AR R FPREARKIR, 0.25mL; V2: JIAIRBURA, 1mL; Cpr: FEARARKE, mgmL;
W: FEAFE, g; 500 RS E, 500 /3; 1000, umol ] nmol FI#HE R%L.



